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Please read the following instructions carefully.

e You have 75 minutes to complete this exam.

e This is a closed book exam. No notes, calculators, cell phones or related
devices of any kind are permitted. All such devices, including cell phones,
must be stored in your bag under your desk for the duration of the exam.

e Read each question carefully — you will save yourself time and grief later
on.

e Questions 1 and 2 are multiple choice, worth 1 point each. Record your
answers to the multiple choice questions in the boxes provided.

e Questions 3-5 are long answer, with point values as indicated. The correct
answers here require justification written legibly and logically: you
must convince the marker that you know why your solution is
correct.

e Question 6 is a bonus question, worth 3 points. The bonus question is
more difficult; do not attempt it until you are satisfied that you
have completed the rest of the test to the best of your ability.

Marker’s use only:

Question Marks
e Where it is possible to check your work, do so.

e Good luck!

1&2(/2)
3 (/6)
4 (/6)
5 (/6)
6 (/3)

(bonus)
Total (/20)
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1. (1 point) Which of the following are correct statements about sets of vectors in a vector
space V7

(1) The set {@,v,w} is linearly dependent if and only if setting a1 = a2 = ag = 0 gives
a16+ CL217+ CL3ZU = 0.

(2) The set {u,v,w} is linearly dependent if and only if there is a solution to the equation
a1 U + aoU + azw = 0 different from a; = as = a3 = 0.

(3) If {u, v, w} is linearly independent then dim(V) > 3.
(4) If U = span{u, v, w} and dim(U) = 3 then {u, U, w} is linearly dependent.

A. Only (2) and (4) are true. C. All are true. @)nly (2) and (3) are true.
B. Only (3) and (4) are true. D. Only (1) and (3) are true. F. Only (2), (3) and (4) are

true.
Your answer: E

Lot oflun “pm feot

2. (1 point) Suppose X is a subspace of RS such that X # {0} and X # R®. Which of the
following are always true?

(1) X has a spanning set consisting of 6 vectors.

(2) X contains a linearly independent set of 6 vectors.
(3) X contains fewer than 6 vectors.

(4)
()

5) 1< dim(X) <5.

There is a basis of X which spans RS.

A. Only (2) and (5) are true. C. Only (1) and (4) are true. E. Only (2) and (4) are true.
@Only (1) and (5) are true. D. Only (1), (3) and (5) are F. Only (3) and (5) are true.

true
Your answer: B
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3. (6 points) Consider the subspace W = {(z,y, 2,1) € R* | z+y+2z+t = 0} of R%. Consider
the following four vectors:

= 1_q1]"
—1 -3 —1 —4

(a) Each of these vectors are elements of W. Explain why {@;, 0, U3, ¥4} is linearly dependent.

(b) Find at least one non-trivial linear combination of {¥;, ¥, U5, ¥4} that results in the zero

vector, by setting up and solving an appropriate linear system of equations using row
reduction. Verify that your answer is correct.

(c) Express one of the vectors in {7, U, U3, U4} as a linear combination of the rest.

(d) Assuming the remaining vectors are linearly independent, give a basis for W and explain
why your answer is correct.

(@) Sne WER' bt W+ RR*

| 1O
,',f,?;o ol 130 [0
(-1-% -1 -49]0
s (Voo o], @+ad:=0
o\ O0Q|0]| » =0
ool 3|0 c+dd=0
Loooc)\dl )c\-Qr('C-

(Continue your answer on the next page if necessary.
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4. (6 points) Consider the following elements of P:
f(x)y=2-5 g(x)=2"-22 and h(z)=2"—10.

(a) Let U = span{f, g}. Show that h € U.

(b) Show that {f, g} is linearly independent. (You may use the fact that {1,z,z?} is linearly
independent.)

In parts (¢) and (d) you may use your results from (a) and (b).
(c) Let W = span{f,g,h}. Show that {f, g} is a basis for W.
(d) Find the coordinate vector of h with respect to the basis {f, g}.

(@) We solye (or nohce) Hhad
) /x:‘-\o N e LA 2(X-5)

h = QS,‘ + 9 Gs‘oanf‘rlg

(b) Since ¥ano\ g are neneno, and

CV@U sca\ar muH\r
quadnr ahc downn out every sca\ar

ulhple ‘F is hnear, { and a*V-O
':\\0"' gca/:(r mu/)\r'u j, 2ath Phear --LL.
(¢) Sinee WC Span{fd), lay A M}"r ,
v o, WN: SPG‘“{'R hi= -.Ff?a"‘ .j .
Swnce {F, g9 ¢ LI by (b), /< a.laam
r\’ \‘h Sfﬁn, {{5’ L QA lgMc. LW

(Continue your answer on the next page if necessary.)

)= U.
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(Continue your answer to Q4 on this page if needed.)
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5. (6 = 4 x 1.5 points) State whether each of the following statements is (always) true, or
is (possibly) false, in the box after the statement. Then justify your answer:

e If you say the statement may be false, you must give an explicit counterexample (with
numbers or functions!).

e If you say the statement is always true, then you CANNOT use an example to justify
your response — you must give a clear general explanation using the theory from the
course. If you use a theorem from class, you must state the theorem.

(a) Suppose @, 7, w € R5. If 24 + 30 + 0 = 0 then {1, U} is linearly dependent.

True or false: TRUE

Justification:

U+ d
\Nth:\;tdiwd de\(e rel ahow

-\’,=6 and‘r"\lb(;d\

(b) Let U = H‘i Z} € My,

True or fatse: | I LSE

Justification: .f ’h u

u;itz‘o'sc o \\,,ce’R} a-:-2b-Xk

a+2b+3c=0 and d:O}. Then dim(U) = 3.

C o d=0
{2 0 (35 ek
oady'L!oO
- span{ (1), (7 ol
Since dimn W £ H veCov v @ P4
Mamn Mo AAgan)  dinn U £ 20
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(c) Suppose 4,7 € R* and dim(span{d,v}) = 2. Then it is always possible to find a vector
w € R3 such that the set {,v,w} is a basis for R3.

True or false: m\)E U J’
Justification: - /‘”/..._: ] Z %m { G,V
Aw (s Gn{h,\lh— _
‘\i‘;& Spognl?rj sek wi”n dirmm U dmrvmi
10 b baowe b U. = {G,vy e L?[.
g vl on be nlon dad o & bhos

. ‘ 3
‘rv Yro anloent Vedkev .r‘pab. (hert, R/

oy o Yhemom im cha. dlin R>: 3
o Hne oasu you get has > vedon.

(d) If {u, v’} is linearly dependent then {u, v, 4w} must also be linearly dependent.

True or false: l p U E

Justification:

. T fhm
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6. (Bonus, max 3 points) Let V' be a vector space. Suppose {1, Uy, Uiz, Uy} is a basis for a
subspace U of V', and suppose {u;, W} is basis for a subspace W of V. Suppose further that
U is a nonzero vector lying in both U and W. Carefully prove thaL if

Uy Wi W
X = span{ iy, @, i, s iamsiid v

then dim(X) < 5.
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